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Answer ALL questions.

PART A — (10 x 2 = 20 marks)

. Deﬁne socket. _
.'What are the functionalities of SNMP protocol‘? .
o L1st the feaf:ures of connection oriented sermces

- Assume that in 4 stop and watt system, the bandw1dth of the lme is 1 Mbps ' L
and. 1 bit. takes 20 milliseconds to make a round trlp What is the -~

bandw1dth delay pro&uct‘?

B ‘Nhat 1s Round Tnp Tlme‘? _

idenhfy the protocol Whmh is used to map the EP address to MAC address for- R

delivering the packet to its destination host. Spemfy the reques‘é and response'
packet format of that protocol.. S RO

Differentiate between Uniéast'and Multicast roﬁtiﬁg. e
How are the packets routed using Link state routing protbcol? i

Define Bandwidth.

Consider there are 7 nodes in the mesh topoiogy Identlfy the number of &upiex_ S S
hnks required to connect the nodes SR . : :
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T ISP ‘wants to distribute these blocks to 3 organizations with' each '

PART B — (5 x 13 = 65 marks)

How DNS help in Internet? Illustrate the nafnosi)acé of DNS.
0;- . .
Explain 08I Referenoe model W}.th neat dlagram . :

Discuss the congestion control and ﬂow control mechamsm in transport

:'_or_' j. i

Compare and oontrast UDP and TCP protooois Explam it brlefiy

Write short notes on ICMP and DHCP protocols e

S Or ..
DISC‘U.SS m detaﬂ about classful and classless IP addreosmg
Explam chstance vector routmg W1th an example 13 .

Wmte short notes on Path Vector routmg and Multlcast routmg". L

Explam propagatlon of gulded and ungulded med].ums L

or
(i) Explain the types of transmission media. .~ S M

(1) Write short notes on wireless LAN (802.11). R ' _' _ S(B) -
PART C— (1 % 15 = 15 marks) |

Conszder ‘the code Word M(X) 111100010101 is transmitted in an
unreliable medium. X2 + 1 is the divisor commonly used for both sender
and receiver. Caleulate the CRC at the sender side as T(X): An'error
oceurred at the bit position 6 (Note © from left to right) in T(X) Prove that-
the error occurs at the receiver s1de usmg CRC. : o

An ISP is granted a block of addresses startmg W1th 198 60 4 0/24 The )

.j_:-'_':_'organizatlon receiving 12 addresses, 25 addresses and 50 addresses.
" Design the sub-blocks and give the CIDR notation for each’ orgamzatlon

LA Fmd out how many addresses are stﬂl avaﬂable after these allocatlons
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